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2nd Semester Examination

SOCIOLOGY
Paper - DSC 1B-T .
Full Marks : 60 Time : 3 Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words us far as pructicable.

Answer any fen questions. 2x10=20
1. What do you mean by social institutions ?
2. Define dominant caéte.
3. What do you mean by communélism h
4. Define kinship.
5. How does M.N. Srinivas define Westernization ?

6. Define secularism.

7. What are the social significances of family ?
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10.
11.

16.
17.

1

1

19.

20.
21.

22,

. Define purity.

Define class.
What are the sources of Indian unity ?

What is social change ?

. Define feminism.,
13.
14.
15.

What do you mean by jajmani system ?
What are the consequences of communalism ?

Mention two features of Indian village community.

Answer any four questions : 5x4
Who are the Dalits ?

Write a short note on village solidarity.

. Write a short note on Dalit’s movement in India,

Write in brief on the various challenges to Indian
society.

Distinguish between Vama and Jati.

Briefly discuss the issues of women’s movement.

Answer any two questions ; 10x2=20

Distinguish between the joint family and nuclear family.
Do you think that Indian family is shifting towards
nuclearization. Give reasons in support of your
answer.



(3)
23. What does Srinivas mean by sanskritization ? Make

a critical analysis of the concept.

24. Write a note on the nature of Tribal problems in
India today.

25, Discuss unity and diversity in Indian society.
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